

## SOME PROPERTIES AND IDENTITIES FOR $(p, q)$ -GENOCCHI POLYNOMIALS COMBINING $(p, q)$ -COSINE FUNCTION

JUNG YOOG KANG

**ABSTRACT.** The purpose of this paper is to find some properties and identities for  $(p, q)$ -cosine Genocchi polynomials. This polynomials which is one of Appell polynomials, have multifarious relations of  $(p, q)$ -other polynomials.

AMS Mathematics Subject Classification : 11B68, 11B75, 12D10.

*Key words and phrases* :  $(p, q)$ -numbers,  $(p, q)$ -exponential functions,  $(p, q)$ -cosine Genocchi polynomials.

### 1. Introduction

We begin by introducing several definitions related to  $(p, q)$ -number used in this paper(see [1-3, 8, 15-16]). For any  $n \in \mathbb{N}$ , the  $(p, q)$ -number is defined by

$$[n]_{p,q} = \frac{p^n - q^n}{p - q}, \quad \text{where } p \neq q, \quad (1.1)$$

which is a natural generalization of the  $q$ -number. From equation (1.1), we note that  $[n]_{p,q} = [n]_{q,p}$ .

**Definition 1.1.** For  $n \geq k$ , the Gaussian binomial coefficients are defined by

$$\begin{bmatrix} m \\ r \end{bmatrix}_{p,q} = \frac{[m]_{p,q}!}{[n-k]_{p,q}![k]_{p,q}!}, \quad (1.2)$$

where  $m$  and  $r$  are non-negative integers.

We note  $[n]_{p,q}! = [n]_{p,q}[n-1]_{p,q} \cdots [2]_{p,q}[1]_{p,q}$ , where  $n \in \mathbb{N}$ . For  $r = 0$ , the value is 1 since the numerator and the denominator are both empty products. There are  $(p, q)$ -analogues of the binomial formula and this definition has a great number of properties, see [4].

---

Received December 11, 2021. Revised January 11, 2022. Accepted January 19, 2022.

\*Corresponding author.

© 2022 KSCAM.

**Definition 1.2.** The  $(p, q)$ -analogues of  $(x - a)^n$  and  $(x + a)^n$  are defined by

$$\begin{aligned}
 \text{(i)} \quad (x \ominus a)_{p,q}^n &= \begin{cases} 1, & \text{if } n = 0 \\ (x - a)(px - qa) \cdots (p^{n-1}x - q^{n-1}a), & \text{if } n \geq 1 \end{cases} \\
 \text{(ii)} \quad (x \oplus a)_{p,q}^n &= \begin{cases} 1, & \text{if } n = 0 \\ (x + a)(px + qa) \cdots (p^{n-2}x + q^{n-2}a)(p^{n-1}x + q^{n-1}a), & \text{if } n \geq 1 \end{cases} \\
 &= \sum_{k=0}^n \begin{bmatrix} n \\ k \end{bmatrix}_{p,q} p^{\binom{k}{2}} q^{\binom{n-k}{2}} x^k a^{n-k}.
 \end{aligned} \tag{1.3}$$

**Definition 1.3.** Two forms of  $(p, q)$ -exponential functions can be expressed as

$$e_{p,q}(x) = \sum_{n=0}^{\infty} p^{\binom{n}{2}} \frac{x^n}{[n]_{p,q}!}, \quad E_{p,q}(x) = \sum_{n=0}^{\infty} q^{\binom{n}{2}} \frac{t^n}{[n]_{p,q}!}. \tag{1.4}$$

From Definition 1.3, we can find an important property,  $e_{p,q}(x)E_{p,q}(-x) = 1$ , see [5-6, 8, 11, 15-16]. Moreover, U. Duran, M. Acikgos and S. Araci define  $\tilde{e}_{p,q}(x)$  in [7] as the follows:

$$\tilde{e}_{p,q}(x) = \sum_{n=0}^{\infty} \frac{x^n}{[n]_{p,q}!}. \tag{1.5}$$

**Definition 1.4.** Let  $i = \sqrt{-1} \in \mathbb{C}$ . Then the  $(p, q)$ -cosine functions are defined by

$$\cos_{p,q}(x) = \frac{e_{p,q}(ix) + e_{p,q}(-ix)}{2}, \quad \text{COS}_{p,q}(x) = \frac{E_{p,q}(ix) + E_{p,q}(-ix)}{2}, \tag{1.6}$$

where,  $\text{COS}_{p,q}(x) = \cos_{p^{-1}, q^{-1}}(x)$ .

From equation (1.5), Definitions 1.3 and 1.4, we can remark

$$\begin{aligned}
 \text{(i)} \quad E_{p,q}(ity) &= \text{COS}_{p,q}(ty) + i\text{SIN}_{p,q}(ty) \\
 \text{(ii)} \quad E_{p,q}(-ity) &= \text{COS}_{p,q}(ty) - i\text{SIN}_{p,q}(ty), \\
 \text{(i)} \quad \tilde{e}_{p,q}((x \oplus y)_{p,q}) &= \sum_{n=0}^{\infty} \frac{(x \oplus y)_{p,q}^n}{[n]_{p,q}!} = e_{p,q}(x)E_{p,q}(y) \\
 \text{(ii)} \quad \tilde{e}_{p,q}((x \ominus y)_{p,q}) &= \sum_{n=0}^{\infty} \frac{(x \ominus y)_{p,q}^n}{[n]_{p,q}!} = e_{p,q}(x)E_{p,q}(-y)
 \end{aligned}$$

**Definition 1.5.** For  $x \neq 0$ , the  $(p, q)$ -derivative of a function  $f$  with respect to  $x$  is defined by

$$D_{p,q}f(x) = \frac{f(px) - f(qx)}{(p - q)x}, \tag{1.7}$$

and  $(D_{p,q}f)(0) = f'(0)$ , prove that  $f$  is differentiable at 0, and it is clear that  $D_{p,q}x^n = [n]_{p,q}x^{n-1}$ .

**Definition 1.6.** Let  $|p/q| < 1$  and  $x, y \in \mathbb{R}$ .  $(p, q)$ -cosine Bernoulli polynomials  ${}_C B_{n,p,q}(x, y)$  and  $(p, q)$ -cosine Euler polynomials  ${}_C \mathcal{E}_{n,p,q}(x, y)$  are respectively defined by the following, see [13-14]:

$$\sum_{n=0}^{\infty} {}_C B_{n,p,q}(x, y) \frac{t^n}{[n]_{p,q}!} = \frac{t}{e_{p,q}(t) - 1} e_{p,q}(tx) {}_C OS_{p,q}(ty),$$

$$\sum_{n=0}^{\infty} {}_C \mathcal{E}_{n,p,q}(x, y) \frac{t^n}{[n]_{p,q}!} = \frac{2}{e_{p,q}(t) + 1} e_{p,q}(tx) {}_C OS_{p,q}(ty).$$

**Definition 1.7.** The  $q$ -cosine Genocchi polynomials is defined by

$$\sum_{n=0}^{\infty} {}_C G_{n,q}(x, y) \frac{t^n}{[n]_q!} = \frac{2t}{e_q(t) + 1} e_q(tx) {}_C OS_q(ty).$$

From the Definition 1.7, we note that  ${}_C G_{n,q}(x, y) = {}_C G_n(x, y)$  when  $q \rightarrow 1$ , see [9]. The main goal of this paper is to find some properties of  $(p, q)$ -cosine Genocchi polynomials. In Section 2, we define the  $(p, q)$ -cosine Genocchi polynomials and find some properties. Moreover, we derive some relation between  $(p, q)$ -cosine Genocchi polynomials and  $(p, q)$ -other polynomials.

### 2. Main results

**Definition 2.1.** Let  $|q/p| < 1$  with  $x, y \in \mathbb{R}$ . Then,  $(p, q)$ -cosine Genocchi polynomials is defined by the following.

$$\sum_{n=0}^{\infty} {}_C G_{n,p,q}(x, y) \frac{t^n}{[n]_{p,q}!} = \frac{2t}{e_{p,q}(t) + 1} e_{p,q}(tx) {}_C OS_{p,q}(ty).$$

From the generating function of  $(p, q)$ -cosine Genocchi polynomials, we can note that

(i)  $\lim_{q \rightarrow 1} \sum_{n=0}^{\infty} {}_C G_{n,1,q}(x, y) \frac{t^n}{[n]_{1,q}!} = \sum_{n=0}^{\infty} {}_C G_n(x, y) \frac{t^n}{n!} = \frac{2t}{e^t + 1} e^{tx} \cos(ty),$

where  ${}_C G_n(x, y)$  is the cosine Genocchi polynomials.

(ii)  $\sum_{n=0}^{\infty} {}_C G_{n,1,q}(x, y) \frac{t^n}{[n]_{1,q}!} = \sum_{n=0}^{\infty} {}_C G_{n,q}(x, y) \frac{t^n}{[n]_q!} = \frac{2t}{e_q(t) + 1} e_q(tx) {}_C OS_q(ty),$

where  ${}_C G_{n,q}(x, y)$  is the  $q$ -cosine Genocchi polynomials, see [9].

**Theorem 2.2.** For  $|q/p| < 1$ , we obtain

$${}_C G_{n,p,q}(x, y) = \sum_{k=0}^n \begin{bmatrix} n \\ k \end{bmatrix}_{p,q} \frac{(x \oplus iy)_{p,q}^k + (x \ominus iy)_{p,q}^k}{2} G_{n-k,p,q},$$

where  $G_{n,p,q}$  is the  $(p, q)$ -Genocchi numbers.

*Proof.* In [6], we can see  $(p, q)$ -Genocchi numbers such as

$$\sum_{n=0}^{\infty} G_{n,p,q} \frac{t^n}{[n]_{p,q}!} = \frac{2t}{e_{p,q}(t) + 1}.$$

If we multiple  $\tilde{e}_{p,q}(t(x \oplus iy)_{p,q})$  in the generating function of  $(p, q)$ -Genocchi numbers, then we have

$$\begin{aligned} & \sum_{n=0}^{\infty} G_{n,p,q} \frac{t^n}{[n]_{p,q}!} \tilde{e}_{p,q}(t(x \oplus iy)_{p,q}) \\ &= \sum_{n=0}^{\infty} G_{n,p,q} \frac{t^n}{[n]_{p,q}!} \sum_{n=0}^{\infty} (x \oplus iy)_{p,q}^n \frac{t^n}{[n]_{p,q}!} \\ &= \sum_{n=0}^{\infty} \left( \sum_{k=0}^n \begin{bmatrix} n \\ k \end{bmatrix}_{p,q} (x \oplus iy)_{p,q}^k G_{n-k,p,q} \right) \frac{t^n}{[n]_{p,q}!}, \end{aligned} \quad (2.1)$$

and

$$\begin{aligned} \frac{2t}{e_{p,q}(t) + 1} \tilde{e}_{p,q}(t(x \oplus iy)_{p,q}) &= \frac{2t}{e_{p,q}(t) + 1} e_{p,q}(tx) E_{p,q}(ity) \\ &= \frac{2t}{e_{p,q}(t) + 1} e_{p,q}(tx) (\text{COS}_{p,q}(ty) + i \text{SIN}_{p,q}(ty)). \end{aligned} \quad (2.2)$$

From Equations (2.1) and (2.2), we derive the following:

$$\begin{aligned} & \sum_{n=0}^{\infty} \sum_{k=0}^n \begin{bmatrix} n \\ k \end{bmatrix}_{p,q} (x \oplus iy)_{p,q}^k G_{n-k,p,q} \frac{t^n}{[n]_{p,q}!} \\ &= \frac{2t}{e_{p,q}(t) + 1} e_{p,q}(tx) (\text{COS}_{p,q}(ty) + i \text{SIN}_{p,q}(ty)). \end{aligned} \quad (2.3)$$

By applying a similar process, we obtain

$$\begin{aligned} & \sum_{n=0}^{\infty} \sum_{k=0}^n \begin{bmatrix} n \\ k \end{bmatrix}_{p,q} (x \ominus iy)_{p,q}^k G_{n-k,p,q} \frac{t^n}{[n]_{p,q}!} \\ &= \frac{2t}{e_{p,q}(t) + 1} e_{p,q}(tx) (\text{COS}_{p,q}(ty) - i \text{SIN}_{p,q}(ty)). \end{aligned} \quad (2.4)$$

From Equations (2.3) and (2.4), we find the required result.  $\square$

To find some identities of the  $(p, q)$ -cosine Genocchi polynomials, we note

$$\sum_{n=0}^{\infty} C_{n,p,q}(x, y) \frac{t^n}{[n]_{p,q}!} = e_{p,q}(tx) \text{COS}_{p,q}(ty), \quad \text{see [13, 14]}. \quad (2.5)$$

**Theorem 2.3.** *Let  $k$  be a non-negative integer. Then we find*

$${}_c G_{n,p,q}(x, y) = \sum_{k=0}^n \begin{bmatrix} n \\ k \end{bmatrix}_{p,q} G_{k,p,q} C_{n-k,p,q}(x, y),$$

where  $G_{n,p,q}$  is the  $(p, q)$ -Genocchi numbers, see [6].

*Proof.* Using the generating function of the  $(p, q)$ -cosine Genocchi polynomials and Equation (2.5), we have a relation as

$$\begin{aligned} \sum_{n=0}^{\infty} {}_C G_{n,p,q}(x, y) \frac{t^n}{[n]_{p,q}!} &= \sum_{n=0}^{\infty} G_{n,p,q}(x, y) \frac{t^n}{[n]_{p,q}!} \sum_{n=0}^{\infty} C_{n,p,q}(x, y) \frac{t^n}{[n]_{p,q}!} \\ &= \sum_{n=0}^{\infty} \left( \sum_{k=0}^n \begin{bmatrix} n \\ k \end{bmatrix}_{p,q} G_{k,p,q} C_{n-k,p,q}(x, y) \right) \frac{t^n}{[n]_{p,q}!}. \end{aligned}$$

From the above equation, we can derive the desired result. □

**Corollary 2.4.** *Setting  $p = 1$  in Theorem 2.3, the following equation hold*

$${}_C G_{n,q}(x, y) = \sum_{k=0}^n \begin{bmatrix} n \\ k \end{bmatrix}_q G_{k,q} C_{n-k,q}(x, y),$$

where  $G_{n,q}$  is the  $q$ -Genocchi numbers and  $\sum_{n=0}^{\infty} C_{n,q}(x, y) \frac{t^n}{[n]_q!} = e_q(tx) \text{COS}_q(ty)$ , see [6, 9-10, 12].

**Theorem 2.5.** *Let  $n$  be a non-negative integer. Then we have*

$$2[n]_{p,q} C_{n-1,p,q}(x, y) = \sum_{k=0}^n \begin{bmatrix} n \\ k \end{bmatrix}_{p,q} p^{\binom{n-k}{2}} {}_C G_{k,p,q}(x, y) + {}_C G_{n,p,q}(x, y).$$

*Proof.* Consider that  $e_{p,q}(t) \neq -1$  in the generating function of the  $(p, q)$ -cosine Genocchi polynomials. Then, we find

$$\sum_{n=0}^{\infty} {}_C G_{n,p,q}(x, y) \frac{t^n}{[n]_{p,q}!} (e_{p,q}(t) + 1) = 2te_{p,q}(tx) \text{COS}_{p,q}(ty). \tag{2.6}$$

From Equation (2.6), we transform the left-hand side into the following:

$$\begin{aligned} &\sum_{n=0}^{\infty} {}_C G_{n,p,q}(x, y) \frac{t^n}{[n]_{p,q}!} (e_{p,q}(t) + 1) \\ &= \sum_{n=0}^{\infty} {}_C G_{n,p,q}(x, y) \frac{t^n}{[n]_{p,q}!} \left( \sum_{n=0}^{\infty} p^{\binom{n}{2}} \frac{t^n}{[n]_{p,q}!} + 1 \right) \\ &= \sum_{n=0}^{\infty} \left( \sum_{k=0}^n \begin{bmatrix} n \\ k \end{bmatrix}_{p,q} p^{\binom{n-k}{2}} {}_C G_{k,p,q}(x, y) + {}_C G_{n,p,q}(x, y) \right) \frac{t^n}{[n]_{p,q}!}, \end{aligned} \tag{2.7}$$

and we write the right-hand side of Equation (2.6) as follows:

$$\begin{aligned} 2te_{p,q}(tx) \text{COS}_{p,q}(ty) &= 2 \sum_{n=0}^{\infty} C_{n,p,q}(x, y) \frac{t^{n+1}}{[n]_{p,q}!} \\ &= 2 \sum_{n=0}^{\infty} [n]_{p,q} C_{n-1,p,q}(x, y) \frac{t^n}{[n]_{p,q}!}. \end{aligned} \tag{2.8}$$

By comparing Equations (2.7) and (2.8), we can derive the required result. □

In order to find some relations between the  $(p, q)$ -cosine Genocchi polynomials and  $(p, q)$ -other polynomials, we note the following equations:

$$[n]_{p,q} C_{n-1,p,q}(x, y) = \sum_{k=0}^{n-1} \begin{bmatrix} n \\ k \end{bmatrix}_{p,q} p^{\binom{n-k}{2}} {}_C B_{k,p,q}(x, y), \tag{2.9}$$

where  ${}_C B_{n,p,q}(x, y)$  is the  $(p, q)$ -cosine Bernoulli polynomials, and

$$2{}_C G_{n,p,q}(x, y) = \sum_{k=0}^n \begin{bmatrix} n \\ k \end{bmatrix}_{p,q} p^{\binom{n-k}{2}} {}_C \mathcal{E}_{k,p,q}(x, y) + {}_C \mathcal{E}_{n,p,q}(x, y), \tag{2.10}$$

where  ${}_C \mathcal{E}_{n,p,q}(x, y)$  is the  $(p, q)$ -cosine Euler polynomials, see [14].

**Corollary 2.6.** *From Equations (2.9), (2.10) and Theorem 2.5, the following holds:*

$$\begin{aligned} (i) \quad & \sum_{k=0}^{n-1} \begin{bmatrix} n \\ k \end{bmatrix}_{p,q} p^{\binom{n-k}{2}} {}_C B_{k,p,q}(x, y) = \frac{1}{2} \left( \sum_{k=0}^n \begin{bmatrix} n \\ k \end{bmatrix}_{p,q} p^{\binom{n-k}{2}} {}_C G_{k,p,q}(x, y) + {}_C G_{n,p,q}(x, y) \right), \\ (ii) \quad & {}_C \mathcal{E}_{n-1,p,q}(x, y) = \sum_{k=0}^{n-1} \begin{bmatrix} n-1 \\ k \end{bmatrix}_{p,q} \left( \frac{p^{\binom{n-k}{2}} {}_C G_{k,p,q}(x, y)}{[n-k]_{p,q}} - p^{\binom{n-k-1}{2}} {}_C \mathcal{E}_{k,p,q}(x, y) \right). \end{aligned}$$

**Theorem 2.7.** *For  $|q/p| < 1$ , we get*

$${}_C G_{n,p,q}(1, y) = \sum_{k=0}^n \begin{bmatrix} n \\ k \end{bmatrix}_{p,q} (-1)^k q^{\binom{k}{2}} (2[n-k]_{p,q} {}_C G_{n-k-1,p,q}(x, y) + {}_C G_{n-k,p,q}(x, y)) x^k.$$

*Proof.* If we put 1 instead of  $x$  in Definition 2.1, we find the following:

$$\begin{aligned} & \sum_{n=0}^{\infty} {}_C G_{n,p,q}(1, y) \frac{t^n}{[n]_{p,q}!} \\ &= \frac{2t}{e_{p,q}(t) + 1} (e_{p,q}(t) + 1) {}_C \text{COS}_{p,q}(ty) - \frac{2t}{e_{p,q}(t) + 1} {}_C \text{OS}_{p,q}(ty) \\ &= 2t {}_C \text{OS}_{p,q}(ty) - \frac{2t}{e_{p,q}(t) + 1} {}_C \text{OS}_{p,q}(ty) \\ &= \left( \sum_{n=0}^{\infty} 2{}_C G_{n,p,q}(x, y) \frac{t^{n+1}}{[n]_{p,q}!} + \sum_{n=0}^{\infty} {}_C G_{n,p,q}(x, y) \frac{t^n}{[n]_{p,q}!} \right) \sum_{n=0}^{\infty} q^{\binom{n}{2}} (-x)^n \frac{t^n}{[n]_{p,q}!} \\ &= \sum_{n=0}^{\infty} \left( \sum_{k=0}^n \begin{bmatrix} n \\ k \end{bmatrix}_{p,q} (-1)^k q^{\binom{k}{2}} (2[n-k]_{p,q} {}_C G_{n-k-1,p,q}(x, y) + {}_C G_{n-k,p,q}(x, y)) x^k \right) \frac{t^n}{[n]_{p,q}!}. \end{aligned}$$

Comparing the coefficients of both sides in the above equation, we can derive the desired result. □

**Corollary 2.8.** *Setting  $p = 1$  in Theorem 2.7, one holds*

$${}_C G_{n,q}(1, y) = \sum_{k=0}^n \begin{bmatrix} n \\ k \end{bmatrix}_q (-1)^k q^{\binom{k}{2}} (2[n-k]_q {}_C G_{n-k-1,q}(x, y) + {}_C G_{n-k,q}(x, y)) x^k.$$

**Theorem 2.9.** For nonzero integers  $a$  and  $b$ , we find

$$\begin{aligned} & \sum_{k=0}^n \begin{bmatrix} n \\ k \end{bmatrix}_{p,q} a^{n-k} b^k {}_C G_{n-k,p,q}(bx, by) {}_C G_{k,p,q}(aX, aY) \\ &= \sum_{k=0}^n \begin{bmatrix} n \\ k \end{bmatrix}_{p,q} b^{n-k} a^k {}_C G_{n-k,p,q}(ax, ay) {}_C G_{k,p,q}(bX, bY). \end{aligned}$$

*Proof.* Assume form  $A$  as follows:

$$A := \frac{4t^2 e_{p,q}(abtx) e_{p,q}(abtX) \text{COS}_{p,q}(abty) \text{COS}_{p,q}(abtY)}{(e_{p,q}(at) + 1)(e_{p,q}(bt) + 1)}.$$

From form  $A$ , we get

$$\begin{aligned} A &= \frac{2t}{e_{p,q}(at) + 1} e_{p,q}(abtx) \text{COS}_{p,q}(abty) \frac{2t}{e_{p,q}(bt) + 1} e_{p,q}(abtX) \text{COS}_{p,q}(abtY) \\ &= \sum_{n=0}^{\infty} {}_C G_{n,p,q}(bx, by) \frac{(at)^n}{[n]_{p,q}!} \sum_{n=0}^{\infty} {}_C G_{n,p,q}(aX, aY) \frac{(bt)^n}{[n]_{p,q}!} \\ &= \sum_{n=0}^{\infty} \left( \sum_{k=0}^n \begin{bmatrix} n \\ k \end{bmatrix}_{p,q} a^{n-k} b^k {}_C G_{n-k,p,q}(bx, by) {}_C G_{k,p,q}(aX, aY) \right) \frac{t^n}{[n]_{p,q}!}, \end{aligned} \tag{2.11}$$

and form  $A$  also can be transformed into the following:

$$\begin{aligned} A &= \sum_{n=0}^{\infty} {}_C G_{n,p,q}(ax, ay) \frac{(bt)^n}{[n]_{p,q}!} \sum_{n=0}^{\infty} {}_C G_{n,p,q}(bX, bY) \frac{(at)^n}{[n]_{p,q}!} \\ &= \sum_{n=0}^{\infty} \left( \sum_{k=0}^n \begin{bmatrix} n \\ k \end{bmatrix}_{p,q} b^{n-k} a^k {}_C G_{n-k,p,q}(ax, ay) {}_C G_{k,p,q}(bX, bY) \right) \frac{t^n}{[n]_{p,q}!}. \end{aligned} \tag{2.12}$$

From Equation (2.11) and (2.12), we know  $(p, q)$ -cosine Genocchi polynomials have symmetric property and find the required result.  $\square$

**Corollary 2.10.** Setting  $b = 1$  in Theorem 2.9, one holds

$$\begin{aligned} & \sum_{k=0}^n \begin{bmatrix} n \\ k \end{bmatrix}_{p,q} a^{n-k} {}_C G_{n-k,p,q}(x, y) {}_C G_{k,p,q}(aX, aY) \\ &= \sum_{k=0}^n \begin{bmatrix} n \\ k \end{bmatrix}_{p,q} a^k {}_C G_{n-k,p,q}(ax, ay) {}_C G_{k,p,q}(X, Y). \end{aligned}$$

**Corollary 2.11.** Setting  $p = 1$  in Theorem 2.9, the following holds

$$\begin{aligned} & \sum_{k=0}^n \begin{bmatrix} n \\ k \end{bmatrix}_q a^{n-k} b^k {}_C G_{n-k,q}(bx, by) {}_C G_{k,q}(aX, aY) \\ &= \sum_{k=0}^n \begin{bmatrix} n \\ k \end{bmatrix}_q b^{n-k} a^k {}_C G_{n-k,q}(ax, ay) {}_C G_{k,q}(bX, bY). \end{aligned}$$

**Theorem 2.12.** For  $0 < \frac{q}{p} < 1$ , we have

$$D_{p,q,x} {}_C G_{n,p,q}(x, y) = \frac{{}_C G_{n,p,q}(px, y) - {}_C G_{n,p,q}(qx, y)}{(p-q)x}.$$

*Proof.* Applying  $(p, q)$ -derivative in the generating function of  $(p, q)$ -cosine Genocchi polynomials, we have

$$\begin{aligned} & D_{p,q,x} \sum_{n=0}^{\infty} {}_C G_{n,p,q}(x, y) \frac{t^n}{[n]_{p,q}!} \\ &= D_{p,q,x} \left( \frac{2}{e_{p,q}(t) + 1} e_{p,q}(tx) \text{COS}_{p,q}(ty) \right) \\ &= \frac{1}{(p-q)x} \left( \frac{2t}{e_{p,q}(t) + 1} e_{p,q}(tpx) \text{COS}_{p,q}(ty) - \frac{2t}{e_{p,q}(t) + 1} e_{p,q}(tqx) \text{COS}_{p,q}(ty) \right) \\ &= \frac{1}{(p-q)x} \sum_{n=0}^{\infty} ({}_C G_{n,p,q}(px, y) - {}_C G_{n,p,q}(qx, y)) \frac{t^n}{[n]_{p,q}!}. \end{aligned}$$

From the above equation, we can finish the proof of Theorem 2.12.  $\square$

**Corollary 2.13.** Let  $p = 1$  in Theorem 2.12. Then, the following equation holds

$$D_{q,x} {}_C G_{n,q}(x, y) = \frac{{}_C G_{n,q}(x, y) - {}_C G_{n,q}(qx, y)}{(1-q)x}.$$

**Theorem 2.14.** Let  $x, y \in \mathbb{R}$ . Then we have

$$\begin{aligned} & {}_C G_{n,p,q}(x, y) + 2 {}_C B_{n,p,q}(x, y) \\ &= \sum_{k=0}^n \begin{bmatrix} n \\ k \end{bmatrix}_{p,q} p^{\binom{k}{2}} (2 {}_C B_{n-k,p,q}(x, y) - {}_C G_{n-k,p,q}(x, y)), \end{aligned}$$

where  ${}_C B_{n,p,q}(x, y)$  is the  $(p, q)$ -cosine Bernoulli polynomials, see [13].

*Proof.* Transforming the generating function of  $(p, q)$ -cosine Genocchi polynomials and using  $(p, q)$ -cosine Bernoulli polynomials, we investigate

$$\begin{aligned} 2t &= \sum_{n=0}^{\infty} {}_C G_{n,p,q}(x, y) \frac{t^n}{[n]_{p,q}!} \left( \sum_{n=0}^{\infty} p^{\binom{n}{2}} \frac{t^n}{[n]_{p,q}!} + 1 \right) \\ &= \sum_{n=0}^{\infty} \left( \sum_{k=0}^n \begin{bmatrix} n \\ k \end{bmatrix}_{p,q} p^{\binom{k}{2}} {}_C G_{n-k,p,q}(x, y) + {}_C G_{n,p,q}(x, y) \right) \frac{t^n}{[n]_{p,q}!} \\ &= 2 \sum_{n=0}^{\infty} {}_C B_{n,p,q}(x, y) \frac{t^n}{[n]_{p,q}!} \left( \sum_{n=0}^{\infty} p^{\binom{n}{2}} \frac{t^n}{[n]_{p,q}!} - 1 \right) \\ &= 2 \sum_{n=0}^{\infty} \left( \sum_{k=0}^n \begin{bmatrix} n \\ k \end{bmatrix}_{p,q} p^{\binom{k}{2}} {}_C B_{n-k,p,q}(x, y) - {}_C B_{n,p,q}(x, y) \right) \frac{t^n}{[n]_{p,q}!}. \end{aligned}$$



From the above equation, we can find the required result which is a relation between  $(p, q)$ -cosine Genocchi polynomials and  $(p, q)$ -cosine Bernoulli polynomials.  $\square$

**Corollary 2.15.** *From Theorem 2.14, one holds*

$${}_C G_{n,q}(x, y) + 2{}_C B_{n,q}(x, y) = \sum_{k=0}^n \begin{bmatrix} n \\ k \end{bmatrix}_q (2{}_C B_{n-k,q}(x, y) - {}_C G_{n-k,q}(x, y)),$$

where  ${}_C B_{n,q}(x, y)$  is the  $q$ -cosine Bernoulli polynomials, see [10].

**Theorem 2.16.** *Let  $x, y \in \mathbb{R}$ . Then we get*

$${}_C G_{n,p,q}(x, y) = [n]_{p,q} {}_C \mathcal{E}_{n-1,p,q}(x, y),$$

where  ${}_C \mathcal{E}_{n,p,q}(x, y)$  is the  $(p, q)$ -cosine Euler polynomials, see [14].

*Proof.* From Definition 2.1, we have a relation of  $(p, q)$ -cosine Genocchi polynomials and  $(p, q)$ -cosine Euler polynomials such as

$$\begin{aligned} \sum_{n=0}^{\infty} {}_C G_{n,p,q}(x, y) \frac{t^n}{[n]_{p,q}!} &= \sum_{n=0}^{\infty} t {}_C \mathcal{E}_{n,p,q}(x, y) \frac{t^n}{[n]_{p,q}!} \\ &= \sum_{n=0}^{\infty} [n]_{p,q} {}_C \mathcal{E}_{n-1,p,q}(x, y) \frac{t^n}{[n]_{p,q}!}. \end{aligned}$$

By comparing the coefficients of both sides in the above equation, we complete the proof of Theorem 2.16.  $\square$

**Corollary 2.17.** *Putting  $p = 1$ , the following holds*

$${}_C G_{n,q}(x, y) = [n]_q {}_C \mathcal{E}_{n-1,q}(x, y),$$

where  ${}_C \mathcal{E}_{n,q}(x, y)$  is the  $q$ -cosine Euler polynomials, see [12].

**Corollary 2.18.** *Putting  $p = 1$  and  $q \rightarrow 1$ , the following equation holds*

$${}_C G_n(x, y) = n {}_C \mathcal{E}_{n-1}(x, y),$$

where  ${}_C \mathcal{E}_n(x, y)$  is the cosine Euler polynomials, see [12].

## REFERENCES

1. G. Brodimas, A. Jannussis, R. Mignani, *Two-parameter Quantum Groups*, Universita di Roma, Preprint, Nr., 1991.
2. I.M. Burban, A.U. Klimyk,  *$(p, q)$ -differentiation,  $(p, q)$ -integration and  $(p, q)$ -hypergeometric functions related to quantum groups*, Integral Transforms Spec. Funct. **2** (1994), 15-36.
3. R. Chakrabarti, R. Jagannathan, *A  $(p, q)$ -oscillator realization of two-parameter quantum algebras*, J. Phys. A:Math. Gen. **24** (1991), L711-L718.
4. R.B. Corcino, *On  $(p, q)$ -Binomials coefficients*, Electron. J. Combin. Number Theory **8** (2008), 12 pages.
5. U. Duran, M. Acikgoz, S. Araci, *On some polynomials derived from  $(p, q)$ -calculus*, J. Comput. Theor. Nanosci. **13** (2016), 7903-7908.

6. U. Duran, M. Acikgoz, S. Araci, *On  $(p, q)$ -Bernoulli,  $(p, q)$ -Euler and  $(p, q)$ -Genocchi polynomials*, J. Comput. Theor. Nanosci. **13** (2016), 7833-7846.
7. U. Duran, M. Acikgoz, S. Araci, *A study on some new results arising from  $(p, q)$ -calculus*, TWMS J. Pure Appl. Math **11** (2020), 57-71.
8. R. Jagannathan, K.S. Rao, *Two-parameter quantum algebras, twin-basic numbers, and associated generalized hypergeometric series*, Proceeding of the International Conference on Number Theory and Mathematical Physics, Srinivasa Ramanujan Centre, Kumbakonam, India (2005), 20-21 December.
9. J.Y. Kang, *Studies on properties and characteristics of two new types of  $q$ -Genocchi polynomials*, Journal of Applied Mathematics and Informatics **39** (2021), 57-72.
10. J.Y. Kang, C.S. Ryoo, *Various structures of the roots and explicit properties of  $q$ -cosine Bernoulli Polynomials and  $q$ -sine Bernoulli Polynomials*, Mathematics **8** (2020), 1-18.
11. M.J. Park and J.Y. Kang, *A study on the cosine tangent polynomials and sine tangent polynomials*, Journal of Applied and Pure Mathematics **2** (2020), 47-56.
12. C.S. Ryoo, J.Y. Kang, *Explicit properties of  $q$ -cosine and  $q$ -sine Euler polynomials containing symmetric structures*, Symmetry **12** (2020), 1-21.
13. C.S. Ryoo, J.Y. Kang, *Structure of approximate roots based on symmetric properties of  $(p, q)$ -cosine and  $(p, q)$ -sine Bernoulli polynomials*, Symmetry **12** (2020), 1-21.
14. C.S. Ryoo, J.Y. Kang, *Some symmetric properties and location conjecture of approximate roots for  $(p, q)$ -cosine Euler polynomials*, Symmetry **13** (2021), 1-13.
15. P.N. Sadjang, *On the fundamental theorem of  $(p, q)$ -calculus and some  $(p, q)$ -Taylor formulas*, arXiv:1309.3934 [math.QA], (2013).
16. M. Wachs, D. White,  *$(p, q)$ -Stirling numbers and set partition statistics*, J. Combin. Theory Ser, A. **56** (1991), 27-46.

**Jung Yoog Kang** received M.Sc. and Ph.D. from Hannam University. Her research interests are complex analysis, quantum calculus, special functions and analytic number theory. Department of Mathematics Education, Silla University, Busan, Republic of Korea.  
e-mail: jykang@silla.ac.kr